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if - else XD {EFHH

#include <stdio.h> . N .
#include <math hs ——————— SQtEABREEST=HICHE

int main(int argc, const char * argv[]) {

double Xx;

double vy; . .

scanf("%Lf", &x); . e

if ( )(( < 0 T EHEIRYID

: TR e [ZERITSN

printf("BRDTHRETEEHA\N"); iggzr'%\% !

¥

else {
y = sqrt(x); FHHRRY LT
printf("sgrt(%f) = %f\n", x, y); TS EICRIT
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return 0;
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if (age|>=|20 ){
printf("You may drink alcoholic beverage.");

¥

elsed
printf("You must not drink alcoholic beverage.");
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#include <stdio.h>

int main(int argc, const char * argv[]) {
int a;
printf("EFEWMZEANLTLSEZLV:");
scanf("%d", &a);
if Ca>=18 ) {

printf(" RAA¥E1,000F\n"); A

h
else i1fC a>= 12 ) { L
printf("H - EHEHE800F\n"); B CDIHLM1D

: NEFEND.
else {
printf("FHEE500M\n"); C/
}
return 0;
}
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#include <stdio.h>
/* AWUEBDOB#BZERTRT S */
int main(int argc, const char * argv[]) {
int month, days;
printf("BEZMYZWAIEZ? ";
scanf("%d", &month);
if (month == 2){ /* 2HDEZE */
days = 28;
by
else 1f((month==4) || (month==6) || (month==9) || (month==11)){
/* 46,9, 11AD&EE */

days = 30;
by
else{ /* TNLIANDBDELE */
days = 31;
¥
printf("%dA (E%2dH T9\n", month, days);
return 0;
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switch ( &0 ) {
case X1 : ZOwvUA
case K2 : 7OvoB

default : 70w &C
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switch 3X M {5 FA

#include <stdio.h>
int main(int argc, const char * argv[]) {
int a;
printf("EIRL TS ZEX (\n");
printf("\t R A=1\n\tA « SE=2\n\tFH=3\n\t\t : ");
scanf("%d", &a);
switch (a) {

case 1:
printf("RKAFEL£1,000F\n");
break;

case 2:
printf("H « HEFE£300M\n");
break;

default:
printf("FEFIEL500M\n");

Iy
return 0;

}
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#include <stdio.h>

/¥ AWUIEADB#ZERRTS */
int main() {
int month, days;
printf("BEZMYUF=WAIZ?");
scanf("%d", &month);
switch(month){
case 1:
case 3
case 5:
case 7:
case 8:
case 10:
case 12:

75 15(2)

}

l

case 4:
case 6:
case 9:
case 11:
days = 30;
break;
case 2:
days = 28;
break;
default:

printf("%dR [3%2dHTY .",

month, days);
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